EMETESERERME—E

BE5RE #h X TEEHATTE Bi& HiE STH-EED A SEHER M
7—9 T 48 EEBETAEE | Ti5 HEE SEEN 1 =& 80,000,000 (}EEXATRE)
7—2 F 4@ S JEDT £ 15 Ii5 xig-ggis. wgnts | REYH B8 A
7—10 7R E TR H Ti5 BERE2MEE |THAYH 5=E 18,000,000
REERDIZHESEE
7—1 75480 SSYERET 7R & & 5937 EEYH EE 150,000M/H—80,000M/A (R7
TBE#H)
6—7 758 S5 SERHET 75 50 [E & RKEFTRET |SEYH E& H30,000M
5—8 75480 SSYERET 7R 5 K& EEYH 8 90,0001 A
4—17 VA SEIERAT 7480 JE & K& EEYMH 58 ZHE#
B &&:56,000M. H
H 4% :5600H. B
. A4 . VAN
3-13 [N |EmEAR [15W k5 ) — ki | E R o Do HERHTAS
H 4% :3500M. A
HE-WLEER AN
1—14 7358 SE4ERET 7580 [E & - BT BEE 2k E5ME S5 30000/H~ (#£%FH)
30—2 |AE |ZmETAE |Es-EE |88 TR |Ea-saae [T oEH
B8 M
58 HEEMREH
%_éﬂfé‘%rsﬁzjl:l?é{i(@‘ﬁ‘ﬁ&m)i
29—6 /_'igﬂll %?EKEBT#?EK E%ﬁ'$%§ﬁﬁ' *ﬁZB%E EE"W]H: XOZB%%B%\ . 7D7W_@0)Eﬁt7‘dtu

FJo




